
Notes: X-Linked Inheritance 
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• There are ___________ chromosomes in the human body.  The last set 

of chromosomes defines a person’s _______________.   

• If a person is biologically female, they will contain two _________ 

chromosomes (______).   

• If the person is biologically male, they will contain an _________ and a 

__________ chromosome (________).    

 

 

• The ________ chromosome contains the majority (~1100 genes) on it while the ________ 

chromosome contains only a few (~78 genes).   

• The human ___________ chromosome has many repeated ___________ sections and only a 

few genes.    One gene is the SYR gene, the most important gene in testis ________________.  



 

 

 

 
 

Colour blindness is a x-linked trait which is why colour 

blindness is much more common in males as the trait only 

needs to show up on the X-chromosome where for females 

it has to show up on both X-chromosomes.  What would the 

genotypes and phenotypes be for the children of a normal 

female carrier for colour-blindness and a normal male? 

 

 


